a+b | Properties of Addition and Multiplication

Name:

(]
Which property of addition is shown?

2+(1+5)=(2+1)+5

Associative Commutative Identity

B
Which property of addition is shown?

24 (4+5)=(2+4)+5

Commutative Identity Associative

]
Which property of addition is shown?

1+(5+3)=(1+5)+3

Associative Identity Commutative
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a+b | Properties of Addition and Multiplication Name:
M
Which property of multiplication is shown?
I1x(3-2)=1x3-1x2
Distributive Identity Associative
Commutative Zero
|fJ
Which property of multiplication is shown?
Identity Distributive Zero
Commutative Associative
|ﬁJ
Which property of addition is shown?
Identity Associative Commutative
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|£J
Which property of multiplication is shown?
4x(3x2)=(4x%x3)x2
Identity Zero Associative
Distributive Commutative
|4
Which property of multiplication is shown?
Distributive Identity Commutative
Associative Zero
|£J
Which property of addition is shown?
Associative Identity Commutative
@ Me CC.8.37 Page 3 of 4

TeachMe, Inc. ©2025 All rights reserved.
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Name:

#10

Which property of addition is shown?

24 (4+5)=(2+4)+5

Commutative Identity Associative

#11

Which property of multiplication is shown?
4 x1=4

Commutative Distributive Associative

Zero Identity

#12

Which property of multiplication is shown?

1x(5—-3)=1x5—-1x3

Identity Commutative Distributive

Associative Zero

[®)TeachMe cc.8.37

TeachMe, Inc. ©2025 All rights reserved.

Page 4 of 4



a+b | Properties of Addition and Multiplication Answer Key
Question Answer
#1 choice 1
#2 choice 3
#3 choice 1
#4 choice 1
#5 choice 4
#6 choice 3
#7 choice 3
#8 choice 3
#9 choice 3
#10 choice 3
#11 choice 5
#12 choice 3
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